
Spiel 1 Spiel 2 Gesamt

Spiel 36 15:06 D 1 TEMPER Manfred 57 + 61 = 118 #

D 2 ACHLEITNER Christian 60 + 64 = 124 # # #

Spiel 38 15:22 D 3 JURKOWITSCH Marcel 69 + 56 = 125 # #

D 4 HAHN Manfred 54 + 48 = 102 #

Spiel 40 15:39 D 5 HINTERSTEINER Gerhard 39 + 66 = 105 # O

D 1 TEMPER Manfred 57 + 56 = 113 O O

Spiel 42 15:55 D 2 ACHLEITNER Christian 60 + 50 = 110 O # #

D 3 JURKOWITSCH Marcel 59 + 53 = 112 O

Spiel 44 16:14 D 4 HAHN Manfred 50 + 55 = 105 O

D 5 HINTERSTEINER Gerhard 52 + 58 = 110

Spiel 46 16:30 D 1 TEMPER Manfred 60 + 49 = 109 #

D 3 JURKOWITSCH Marcel 57 + 47 = 104 # #

Spiel 48 16:47 D 2 ACHLEITNER Christian 68 + 50 = 118 # #

D 4 HAHN Manfred 50 + 56 = 106 #

Spiel 50 17:03 D 3 JURKOWITSCH Marcel 50 + 51 = 101 O

D 5 HINTERSTEINER Gerhard 42 + 53 = 95 #

Spiel 52 17:21 D 4 HAHN Manfred 60 + 64 = 124 O # # #

D 1 TEMPER Manfred 53 + 56 = 109

Spiel 54 17:38 D 5 HINTERSTEINER Gerhard 47 + 48 = 95

D 2 ACHLEITNER Christian 64 + 58 = 122 # #


